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[Time: Three Hours]

Please check whether you have got the right question paper.
N.B: 1. Attempt any four questions.
2. All questions carry equal marks.

Explain any two of the following-
David Ricardo’s theory of development

b. Karl Marx Theory

W.W. Rostow’s stages of development

Explain any two of the following-
Solow Swan Model

b. Growth accounting

® oo oo

Total factor productivity
Write an essay on Political economy of structural adjustment
Critically evaluate Harris Todaro Model of Rural urban migration

Write notes on any two of the following-
Agriculture-industry interrelationship
Contractionary devaluation

Debt, investment and growth

Explain in detail the Merged Bank Fund model

Write notes on any two of the following-
The Big Push theory

Population and development

Human development index

Under nutrition in labour market

Harrod Domar Model
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M.A. (PART-II)
ECONOMICS Q. P. Code: 51040
PUBLIC ECONCMICS
\(PAPER‘IY) (MAY- 2018) ) Time: 3 hours Total Marks: 100

N.B: (1) Attempt ANY FOUR questions.

(2) Figures to the right indicate full marks.

Q1. Explain the following: (25)

(a) Rationale for government intervention.
(b) Theorems of welfare economics.

Q2. Discuss the following: (25)

(a) Optimal conditions for the provision of public goods.

(b) Clarke Groves tax.

Q3. Examine the following: (25)
(a) Excess burden of tax in a general equilibrium framework.
(b) Value added tax.

Q4. Analyze the following: (25)

(a) Inclusion of wealth effect in traditional IS-LM analysis with reference to Silber
model.
(b) Solow-Blinder theorem and bond financed deficits.

Q5. Elaborate the following: (25)

(a) Macroeconomic effects of fiscal deficit.
(b) Twin deficits approach to growth and inertial inflation.



Q. P. Code: 51040

Q6. Explain the following: (25)

(a) Flypaper effect.
(b) Federal structure in India.

Q7. Write notes on ANY TWO of the following: (25)

(a) Arrow Impossibility theorem.

(b) Shadow prices.

(c) Effects of tax on labour supply.

(d) Ricardian equivalence.

(e) Polak model of financial programming.
(f) Tax assignment problem.
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M.A. (PART-II)
ECONOMICS
AGRICULTURE ECONOMICS. Q.P. Code : 29363

(PAPER-II) (MAY= 201 8) ) [Time: 3 Hours] [ Marks: 100]

.

Please check whether you have got the right question paper.
N.B: 1. Questions no. 1 in Compulsory.
2. Answer any 3 questions from the remaining Six.
3. All questions carry equal marks.

QI Write notes on any three of the following :
a) Agriculture taxation
b) Mellor’s theory of agricultural development
¢) Water charges
d) Role of agricultural extension
e) Impact of globalization an Indian agriculture
f) Definition of Modes of Production

Q.II a) Explain the agricultural development theory of Schultz.
b) Highlight the salient features of agricultural development in India since 1960s.
Q.III a) Examine the public investment on major, medium and minor irrigation in India.
b) What are the criticisms levelled against major irrigation projects.

Q.1Iv Discuss the impact of new technology on labour absorption and real wage rates in Indian
agriculture.

Q.V a) Discuss the impact of financial sector reforms on rural credit.
b) Write a note on crop and livestock insurance in India.

Q.VI Answer any two of the following :
a) Distinguish between Feudalism and Capitalism.
b) Urban rural income disparities.
¢) Importance of research in Indian Agriculture.

Q.vII Explain any two of the following :
a) Role of foreign capital in Indian Agriculture.

b) Method of Surplus extraction.
¢) Abolition of Intermediaries Act.
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M.A&. (PART-II)
ECONOMICS

INDUSTRIAL ECONOMICS (3 Hours )

(PAPER-II) (MAY- 2018)

_/

N.B. : (1) All questions carry equal marks.
(2) Attempt any four questions.

1. Explain the following:-

(a) Different types of unemployment in India

(b) Theory of Human capital

2. Discuss the following:-

(a) Short run demand curve for labour

(b) Impact of globalization on labour

3. Explain the following:-

(a) Subsistence theory of wages

(b) Wage differentials in India

4. Discuss the following:-

(a) Impact of unions on productivity and wages

(b) Insider - Outsider theory

5. Critically examine the social security measures in India.

6. Explain the following:-

(a) Strikes, Lockout and closure

(b) Role of trade unions in labour management relations
7. Write notes on any two of the following:-

(a) Causes of labour migration in India

(b) Contract labour

(c) Wage and Income policy in India

(d) International Labour Organization (ILO)
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